
EXERCICE DU 13/01/2021 
 

 

 

Séquence 1 : 

 

Nord         Sud 

 1SA          2 

  3



Qu’exprime Sud par l’enchère de : 

➔ 

➔ 

➔ 

SA➔ 

➔ 

4➔ 

➔ 

➔ 

4SA➔ 

 

Séquence 2 : 

 

Nord         Sud 

 1SA          3 

  3



Qu’exprime Sud par l’enchère de : 

➔ 

➔ 

SA➔ 

➔ 

4➔ 

➔ 

➔ 

4SA➔ 

 


